Year 6

Monday 6th July 2020
Maths

LO: Ratio Revision




The video of this lesson is available here - Summer
Term — Week 10 - lesson 1

This link works on the printable version and is
available above the PowerPoint.

You will need to watch this video to learn the
skills you need in this lesson.


https://whiterosemaths.com/homelearning/year-6/

The independent work continues on the next two slides. There are 7
questions and 1 extension.
(Espanol - siete preguntas y una extension)

—

The chili suggests a good starting point depending on how confident you are feeling.
If you have time you can complete all the independent work!



Complete the sentences.

The ratio of counters to marbles is : 0 @ @

o The ratios show shaded parts to non-shaded parts. The ratio of marbles to cubes is : @ @

Match the ratios, statements and bar models. O
The ratio of cubes to counters is :

s to tiee EEEEEEE _ T e

The ratio of counters to cubes is
three o two EE 1T
The ratio of counters to cubes to marbles is

to three

Introducing the ratio symbol o Dani has some counters, cubes and marbles. @ ‘

Brett has drawn some triangles and squares.

372
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The ratio of triangles to squares is 1:3

a) Are there more triangles or more squares?

Explain how you know.

° Joogossss®

@@ b) Brett has drawn more than 10 shapes.
° Draw what Brett might have drawn.

Who is correct?

The ratio of purple
to yellow is 5: 4

Explain your answer.
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o Here are some rulers and some pencils.

a) What is the ratio of pencils to rulers?

b) Here are some more rulers and pencils.

The ratio of pencils

to rulers is the

same as in part a).

Ron is wrong because
there are more pencils
and more rulers.

Who is correct?

Explain your answer.

o The ratio of horses to chickens in a field is 2:5

Here are the horses. Draw the chickens.

o T
4 o

o Shade squares so that the ratio of shaded to non-shaded squares
is1:4

o [TTT1] ® 9

EXt: A box contains dark, white and milk chocolates.

% of the box are dark chocolates.

% of the box are milk chocolates.

The rest are white chocolates.

What does each ratio represent?
a) 1:3

b) 4:1

¢ 3:5
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The next two slides contain the answers
should you wish to check you work and

reflect on what you understand.

AREA
DO NOT
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Introducing the ratio symbol

o The ratios show shaded parts to non-shaded parts.

Match the ratios, statements and bar models.

- [

gEee

The ratio of purple
to yellow is 5: 4

Who is correct? Mo

Explain your answer.

JLm_a.xi_S_puc@L_de_duim—

o Dani has some counters, cubes and marbles.

Complete the sentences.

The ratio of counters to marblesis| 5 ||

The ratio of marbles to cubes is| L |: 3

The ratio of cubes to countersis| % |:| 5 0 @
The ratio of counters to cubes is 5 : 3 @ 0

The ratio of counters to cubes to marblesis| 5 |: 3 : L;

Brett has drawn some triangles and squares.

The ratio of triangles to squares is 1:3

a) Are there more triangles or more squares? qq}nn’&

Explain how you know.

_En_um:j_Lme‘j‘_(bmi_q.LE_.xemm_—

b) Brett has drawn more than 10 shapes.

Draw what Brett might have drawn.
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o Here are some rulers and some pencils. o The ratio of horses to chickens in a field is 2:5

i s 83$
.. 8g° 98

a) What is the ratio of pencils to rulers? | I 3 8 % 8 J

b) Here are some more rulers and pencils.

o Shade squares so that the ratio of shaded to non-shaded squares
is1:4
c) @

A box contains dark, white and milk chocolates.

% of the box are dark chocolates.

N

The ratio of pencils
to rulers is the
same as in part a).
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% of the box are milk chocolates.

The rest are white chocolates.

Ron is wrong because
there are more pencils

and more rulers. What does each ratio represent?

whute to dorle

Who is correct? __fon

b) 4:1
milly o white

M&m_u_m%_l_@x.i ¢ 3:5

Explain your answer.

dare. to nok dorle

White
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